
繰り下がりが続く引き算 

1 

 

 

 

縦書きの加減

3 
繰り上がり、繰り下がり有り 

 

 

 

 

 

暗算 1000-10-1 

=1000-11 

  



繰り下がりが続く引き算 
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9   
 

1 0 

+ 
  

1  - 
  

1 

  1 0     9 
 

 
 

9 9   1 0 0 

+ 
  

1  - 
  

1 

 1 0 0    9 9 
 

 

 

 
  

8   
 

1 0 

+ 
  

2  - 
  

2 

  1 0     8 
 

 
 

9 8   1 0 0 

+ 
  

2  - 
  

2 

 1 0 0    9 8 
 

 

 

   7    1 0 

+   3  -   3 

  1 0     7 
 

  9 7   1 0 0 

+   3  -   3 

 1 0 0    9 7 
 

 

 

 

 

 9 9 9  1 0 0 0 

+ 
  

1  - 
  

1 

1 0 0 0   9 9 9 
 

 9 9 8  1 0 0 0 

+ 
  

2  - 
  

2 

1 0 0 0   9 9 8 
 

 

 

 9 9 0  1 0 0 0 

+ 
 

1 0  - 
 

1 0 

1 0 0 0   9 9 0 
 

 9 8 9  1 0 0 0 

+ 
 

1 1  - 
 

1 1 

1 0 0 0   9 8 9 
 

 

 

 9 7 8  1 0 0 0 

+  2 2  -  2 2 

1 0 0 0   9 7 8 
 

 9 6 8  1 0 0 0 

+  3 2  -  4 3 

1 0 0 0   9 5 7 
 

  



繰り下がりが続く引き算 
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9   
 

1 0 

+ 
  

1  - 
  

1 

         
 

 
 

9 9   1 0 0 

+ 
  

1  - 
  

1 

         
 

 

 

 
  

8   
 

1 0 

+ 
  

2  - 
  

2 

         
 

 
 

9 8   1 0 0 

+ 
  

2  - 
  

2 

         
 

 

 

   7    1 0 

+   3  -   3 

         
 

  9 7   1 0 0 

+   3  -   3 

         
 

 

 

 

 

 9 9 9  1 0 0 0 

+ 
  

1  - 
  

1 

         
 

 9 9 8  1 0 0 0 

+ 
  

2  - 
  

2 

         
 

 

 

 9 9 0  1 0 0 0 

+ 
 

1 0  - 
 

1 0 

         
 

 9 8 9  1 0 0 0 

+ 
 

1 1  - 
 

1 1 

         
 

 

 

 9 7 8  1 0 0 0 

+  2 2  -  2 2 

         
 

 9 6 8  1 0 0 0 

+  3 2  -  4 3 

         
 

  



繰り下がりが続く引き算 
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9+1 = 

99+1 = 

999+1 = 

9999+1 = 

 

10-1 = 

100-1 = 

1000-1 = 

10000-1 = 

 

100 -10 = 

100 -10 -1= 

1000-100-10-1 = 
 

100 -11= 

1000-111 = 

10000-1111 = 

 

9+2 = 

99+2 = 

999+2 = 

9999+2 = 

 

10-2 = 

100-2 = 

1000-2 = 

10000-2 = 

 

100 -20 = 

100 -20 -2= 

1000-200-20-2 = 
 

100 -22= 

1000-222 = 

10000-2222 = 
 

  



繰り下がりが続く引き算 
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9+1 = 10  

99+1 = 100  

999+1 = 1000  

9999+1 = 10000  

 

10-1 = 9  

100-1 = 99  

1000-1 = 999  

10000-1 = 9999  

 

100 -10 = 90  

100 -10 -1= 89  

1000-100-10-1 = 889 
 

100 -11= 89 

1000-111 = 889 

10000-1111 = 8889 

 

9+2 = 11  

99+2 = 101 

999+2 = 1001 

9999+2 = 10001 

 

10-2 = 8  

100-2 = 98  

1000-2 = 998  

10000-2 = 9998  

 

100 -20 = 80  

100 -20 -2= 78  

1000-200-20-2 = 778  

 

100 -22= 78 

1000-222 = 778 

10000-2222 = 7778 

 



繰り下がりが続く引き算 
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100-11 = 

100-22 = 

100-33 = 

 

100-44 = 

100-55 = 

100-66 = 

 

100-77 = 

100-88 = 

100-99 = 

 

 

 

 

1000-111 = 

1000-222 = 

1000-333 = 

 

1000-444 = 

1000-555 = 

1000-666 = 

 

1000-777 = 

1000-888 = 

1000-999 = 

 

 

  



繰り下がりが続く引き算 
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100-11 = 89  

100-22 = 78  

100-33 = 67  

 

100-44 = 56 

100-55 = 45  

100-66 = 34  

 

100-77 = 23  

100-88 = 12  

100-99 =  1  

 

 

 

 

1000-111 = 889  

1000-222 = 778  

1000-333 = 667  

 

1000-444 = 556  

1000-555 = 445  

1000-666 = 334  

 

1000-777 = 223  

1000-888 = 112  

1000-999 =  1   

 

 

 



繰り下がりが続く引き算 
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100 -11= 

1000-111 = 

10000-1111 = 
 

 

100 -22= 

1000-222 = 

10000-2222 = 
 

 

100 -33= 

1000-333 = 

10000-3333 = 
 

 

100 -44= 

1000-444 = 

10000-4444 = 
 

 

 

100 -55= 

1000-555 = 

10000-5555 = 
 

 

100 -66= 

1000-666 = 

10000-6666 = 
 

 

100 -77= 

1000-777 = 

10000-7777 = 
 

 

100 -88= 

1000-888 = 

10000-8888 = 
 

  



繰り下がりが続く引き算 
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100 -11= 89  

1000-111 = 889  

10000-1111 = 8889  
 

 

100 -22= 78  

1000-222 = 778  

10000-2222 = 7778  
 

 

100 -33= 67  

1000-333 = 667  

10000-3333 = 6667  
 

 

100 -44= 56  

1000-444 = 556  

10000-4444 = 5556 
 

 

 

100 -55= 45  

1000-555 = 445  

10000-5555 = 4445 
 

 

100 -66= 34  

1000-666 = 334  

10000-6666 = 3334 
 

 

100 -77= 23  

1000-777 = 223 

10000-7777 = 2223 
 

 

100 -88= 12  

1000-888 = 112  

10000-8888 = 1112 
 

  



繰り下がりが続く引き算 
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100 -12= 

1000-112 = 

10000-1112 = 
 

 

100 -23= 

1000-223 = 

10000-2223 = 
 

 

100 -34= 

1000-334 = 

10000-3334 = 
 

 

100 -45= 

1000-445 = 

10000-4445 = 
 

 

 

100 -56= 

1000-556 = 

10000-5556 = 
 

 

100 -67= 

1000-667 = 

10000-6667 = 
 

 

100 -78= 

1000-778 = 

10000-7778 = 
 

 

100 -89= 

1000-889 = 

10000-8889 = 
 

  



繰り下がりが続く引き算 
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100 -12= 88  

1000-112 = 888  

10000-1112 = 8888  
 

 

100 -23= 77  

1000-223 = 777  

10000-2223 = 7777  
 

 

100 -34= 66  

1000-334 = 666  

10000-3334 = 6666  
 

 

100 -45= 55  

1000-445 = 555  

10000-4445 = 5555  
 

 

 

100 -56= 44  

1000-556 = 444  

10000-5556 = 4444  
 

 

100 -67= 33  

1000-667 = 333  

10000-6667 = 3333  
 

 

100 -78= 22  

1000-778 = 222  

10000-7778 = 2222 
 

 

100 -89= 11  

1000-889 = 111  

10000-8889 = 1111  
 


